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w A it (M) T F i # (M) HE R SEE (1)
YRR EH R 107,433,000 99,475,000 (A) 7,958,000
YA e e S 110,398,680 102,221,000 (B) 8,177,680
e | 96,724,800 89,560,000 (C) 7,164,800
EHGEAAEE 99,394,560 (F) 92,032,000 (D) 7,362,560 (E)
HEJRAE 2,669,760 2,472,000 197,760
EHEHX)  B)X(©C)+(A)=(D) <K D)IITHIED - TFHLLFEET>
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(D) + (E) = (F)




£ M MASZINEREEM M LBEHLIE No. 1
RETZE EAT RETERR e
= L [r=r = 3 L 3 7 ié;i -
® H wmoO= T TINNT 24 g M B e | EIHEE WE
[ERRER ¢
[ #ETHE 2V 53,769,008 = 55,717,808 1,948,800 HE%H
| EXGETHF = 7,192,932 = 7,296,537 103,605 |HE%H
I BhEk (s L =K 17,936,270 = 18,182,500 246,230 H4%A
[ERCAR: 78,898,210 81,196,845 2,298,635 H9%H
SiSTE
[| sk = 3,237,237 = 3,296,724 59,487 HE%E
| BUGE e = 8,289,060 = 8,436,188 147,128 Ha%HE
— X B = 9,051,492 = 9,291,972 240,480 H4%A
B TE 20,577,789 21,024,884 447,095 H4%H
&t 99,475,999 102,221,729 2,745,730 HE%H
Xt eKE (T3 mg) THA# T 99,475,000 102,221,000 2,746,000 F4%H
THE RS Y%A 7,958,000 8,177,680 219,680 H4%H
WA (=) 107,433,000 110,398,680 2,965,680 HA%H




£ M BMAFEZNFEREEH M LBEMRISE No. 2
RETZE EAT RETERR et
# H "= g B B s g B B o | EUEEE W
I |BETSE
Al [EEEN L oG T 1 =X 21,754,709 1 XK 21,754,709 0
A2 R = - MEEENEDE T F 1 = 6,108,587 1 = 6,108,587 0
A3 |FRER=ENELRETE 1 =X 10,147,570 1 K 10,147,570 0
A4 |G EEEAVRE S Bl T 1 K 11,315,893 1 =X 13,264,693 1,948,800 Ha%H
A5 FEEE=ENE B T 1 =X 4,442,249 1 XK 4,442,249 0
&5 53,769,008 55,717,808 1,948,800 | Ha%H




£ M BMAFEZNFEREEH M LBEMRISE No. 3
RETZE EAT RETERR et
# H "= g B B s g B B o | EUEEE W
Al|BEEBEHE M LRELISE
1 |[EERGETE 1 K 872,387 1] =X 872,387 0
2 |[BEUELE 1 K 4,972,256 1 = 4,972,256 0
3 |NEKETHE 1 =X 7,847,586 1 XK 7,847,586 0
4 |BEXMEILE 1 = 74,862 1 = 74,862 0
5 |2=yhEONFOMTEH 1 K 6,169,340 1 =X 6,169,340 0
6 |y 1 = 1,818,278 1 = 1,818,278 0
&t 21,754,709 21,754,709 0




2 W BMAEZNEREEE M LBEMTIE No. 4

THEEE THEEE —
# H "= s B 28 | MB  HE Em 1 | SOERE RS

b
feln

felo

A2 |EBEHE - - ERENEREIE

1 (B R LHF 1 K 220,872 1 3 220,872 0
2 [EEESETE 1 K 314,544 1 K 314,544 0
3 |NESETEH 1 K 330,808 1 3 330,808 0
4 |BIESETE 1 K 377,065 1 K 377,065 0
5 [FothTH 1 K 4,580,120 1 3L 4,580,120 0
6 |[fds- st 1 K 285,178 1 K 285,178 0

&t 6,108,587 6,108,587 0




2 W BMAEZNEREEE M LBEMTIE No. 5

B H BB | oy wm owE sm | mE wm o owm | s | EOMWE W3
A3 | REMENEREISE
1 (B R LHF 1 K 217,152 1 X 217,152 0
2 [EEESETE 1 K 111,640 1 K 111,640 0
3 |NESETEH IR 470,447 1 3 470,447 0
4 |BIESETE 1 K 312,619 1 K 312,619 0
5 | T HE 1 K 8,670,995 1 X 8,670,995 0
6 |[fds- st 1 K 364,717 1 K 364,717 0

&t 10,147,570 10,147,570 0




2 W BMAEZNEREEE M LBEMTIE No. 6

B H BB | oy wm owE sm | mE wm o owm | s | EOMWE W3
A4 |BEHEFHNE - NEERETSE
1 (B R LHF 1 KX 2,228,410 1 3 2,228,410 0
2 [EEESETE 1 K 5,093,946 1 K 5,093,946 0
3 PMEESE T 1 X 2,742,392 1 K 4,691,192 1,948,800 Ha%H
4 |BESETE 1 K 607,167 1 K 607,167 0
5 | T 1 3L 321,127 1 3L 321,127 0
6 |[fds- ot 1 KX 322,851 1 K 322,851 0

At 11,315,893 13,264,693 1,948,800 Hi%H




£ M BMAFEZNFEREEH M LBEMRISE No. 7
RETZE EAT RETERR et
# H "= g B B s g B B o | EUEEE W
A5 [FEHERNEEREISE
1 |[EERGETE 1 X 158,328 1 =X 158,328 0
2 |[BEUELE 1 K 2,852,372 1 = 2,852,372 0
3 |NEKETHE 1 =X 193,115 1 XK 193,115 0
4 |BEXMEILE 1 = 78,935 1 = 78,935 0
5 |FofT=H 1 X 919,600 1 =X 919,600 0
6 |y 1 = 239,899 1 = 239,899 0
&t 4,442,249 4,442 249 0




% BMAEZNFREER M LBERTE NO 8

B EER BRAEER
w B HEfy B i £ RBH|l=x = B B @ £

% i 1 £

=5 1ERE

=

T |BSRHTE

1 |EEB M LRETSE [ 4,160, 781 1T =® 4,264, 386 103, 605
2 |ERE - £RFEHEISE T X 740, 607 T X 740, 607 0
3 |REME - £REERELSE [ 2,209, 637 1T =® 2,209, 637 0
4 |BERANBEEREIS 1T = 81,907 [ 81,907 0

& & 1,192,932 1,296, 537 103, 605




% BMAEZNFREER M LBERTE NO 9

£ ” " = AXat K EHI RETEERK -
wo BB B O & Bl = B B i £ 3
I |EXHZEISE

1 |BEEEN LBETE
1) |EsTERIR 1 =K 2,989, 800 T =® 3,093,405 || 103, 605
2) |ZRZEERME 1 =K 20, 760 1 =R 20, 760 0
3) |FEXIRHRME 1 =K 71,210 1T = 71,210 0
4) |HkFE iR 1 =K 50, 960 1 =R 50, 960 0
b) |BWEEBMRERKME 1 =K 1,028, 051 T =® 1,028, 051 0
& B 4,160, 781 4,264,386 | 103, 605




% BMAEZNFREER M LBERTE NO 10

£ # " = i E’xi?r%%‘ﬁ RETEERK -
wo BB B O & Bl = B B i £ 3
I |EXHZEISE
2 |BHE - ZREREISE
1) |EsTERIR 1 =K 388, 184 T =® 388, 184 0
2) |avtey b 1 =K 249, 907 1 =R 249, 907 0
3) |BNIERBEERRR 1 =K 13,983 T =® 13,983 0
4) |EHETERME 1 =K 10, 101 1 =R 10, 101 0
5) |MEFEERfE 1 =K 32,082 T =® 32,082 0
6) |[TLEHRZERR 1 =K 8,300 1 R 8,300 0
1) | KKEERANER 1 =K 13,050 1T = 13,050 0
8) |[HHLE BN 1 =K 25,000 1 =R 25,000 0
& B 740, 607 740, 607 0




% BMAEZNFREER M LBERTE NO 11

£ # " = i AXat K EHI RETEERK -
wo BB B O & Bl = B B i £ 3
3 |REME - #REREIE

1) | REERE 1 =K 33, 460 1 =R 33, 460 0
2) |BATHIREE 1 =K 1,264, 021 1T =® 1,264, 021 0
3) |EBATERAR 1 =K 389, 391 1 =R 389, 391 0
4) Aty hEdE 1 K 432, 467 1T =® 432, 467 0
5) |BREHRBEEMERE 1 =K 13,673 1 R 13,673 0
6) [FE#zTERME 1 =K 16, 158 1T = 16, 158 0
1) |WEEEAE 1 =K 14,117 1 =R 14,117 0
8) |TLEHRZERE 1 =K 8,300 T = 8,300 0
9) [KEEERENE 1 =K 13,050 1 =R 13,050 0
10) | W (2% 1 1 =K 25,000 1T =® 25,000 0

& B 2,209, 637 2,209, 637 0




£ H  MAENEREEE A LTS NO 12
RItEEA BitEEs
% # i = TR _ BEEEH s3]
w & Em B @ & HElx = @Eg 2 @ & &
1 |mE ASEEXETE

1) |EBITEHME 1 = 12,772 1 =% 12,1772 0
2) EEISEREL GEAl ] 1 = 2,220 1 B 2,220 0
3) | MK ERENERE 1 = 6,915 1 =% 6,915 0
= g 81,907 81, 907 0]




2% WAEZNEREEBMLULRERTISE No. 13
RETEFAI RETEER o
o ; . - o ; — TR 5
A m E &  HE| S48 g  HE| @ | DOEER | W
1) P55 3 g A
[&EBN1]
M1-1 | A s Bkl L5 (T B ~ 3% 1 =X 7,142,900 1 =X 7,142,900 0
MI1-2|#a /K e L5+ 5B T e 1 B A 1 ~ 3 1 =X 2,518,130 1 =X 2,662,810 144,680 HH%H
M1-3[HEK R L (T B ~ 3% 1 =X 5,805,470 1 =X 5,831,470 26,000 HE%E
M1-4| 7 2§ .9 L& 1 =X 396,235 1 = 396,235 0
LSS 1 =X 108,460 1 =X 137,930 29,470 HE%H
M1-5|#a5 3% T (R s e B | ~ 3 =V 52,530 1 =X 52,530 0
MI1-6|tE T3 (AT OB A BRAS  ~ 3 1 2K 755,000 1 =X 755,000 0
JNEF 16,778,725 16,978,875 200,150 Ha%H
[FERl=]
M2-1[#5 7Kg 1.5 1 =X 169,560 1 = 169,560 0
M2-2(HEZK R L 1 =K 73,640 1 =X 73,640 0
M2-3| 77 A& i 1.5 1 =K 298,540 1 = 298,540 0
M2—-4 |5 T 5 1 =X 27,500 1 =X 27,500 0
N 569,240 569,240 0
L= 17,347,965 17,548,115 200,150 %5




2% MAEZ/IMNEREEBBMLBEEMTISE No. 14
RETEEAT RETEER &
- o - - - o - . E 5|18 EE
8 H moR TR I - TRE AT - SiRmE | W=
[ZERl=]
M3-1 |#E KB T2 2V 294,130 = 313,910 19,780 |H4%H
M3-2 | HEK B i L5 =Y 80,920 = 105,720 24,800 |H%H
M3-3 |#ai it T2 2V 34,400 = 34,400 0
M3—4 [ 234 T2 =Y 157,055 = 157,055 0
M3-5 [k T5 2V 21,800 = 23,300 1,500 |Ha%H
e 588,305 634,385 46,080 | HE%H
A=V 588,305 634,385 46,080 | Ha%H
o3 17,936,270 18,182,500 246,230 | B4%E




